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- %183 (C) e £

—, EXE BEI0D)

Lakzdegf () =3, Hf(2)=f(-3)=f(4)=-5, f(1)=19, AIf(6)=
7% | 139
it | &% () =ax-2)(x+3)(x—4) -5,
f(1)=19=12a-5=19>a=2=>f(X)=2(x-2)(x +3)(x—4) -5
=f(6)=2x4x9%x2-5=139 .

2.%&&, b/:%ﬁﬁi’ %Iﬁﬁf(X)=2x3+ax2_5x+b, g(X)Z(X—Z)(SX—3)+(X_1)(2X2_X+1) ] %f(X)
81 g (x)EHENZEA, Hi(ab)=

0.1)

j%f(x):g(x),ﬁm{f(lhg(l) j{a+b—3=—2 {a+b=1 {a:o

= = ...(ab)=(01).
f(2)=9(2) 4da+b+6=7 4da+b=1 |b=1

326387 (X) = X' + 2x — 4 BRLA(X — D) (x + D)EYER =5
”%f(x)=x1°°+2x—4:(x—l)(x+1)Q(x)+ax+b
Hf(1)=142-4=-1, f(-1)=1-2-4=-5
s e f () =-1=a+b f(-1)=-5=—a+b
fer, Fa=2, b=-3, HErzlly 2x-3.

4EEN=3x(-8)°+22x(-8)"-12x(-8)°+31x(-8)?-10x(—8)+42, H|N=
fi% | 58

T | FIRSEEFRIA:
3 422 -12 +31 -10 +42|-8
—24 +16 -32  +8 +16‘
3 -2 +4 -1 -2|+58

# N =58 .

SEMZIET C + 3 + 4 + ax® + bx + 6 B x° + 3x* + 3% + X + x + 6 [ LA x* - 5x + 2 Z aAAHE, B
¥@,b)=

(-4,3)

SEX) =X+ +4C+ax+bx+6 > gX)=xX+3"+3C+x°+x+6
f(X)= (¢ —-5x+2) Qq (X) +r(x)
g()=(-5x+2) Q: (X) +r (X)
S —g () =x3+ (@- 1)+ (b - 1)x=(x*-5x+ 2)[Q: (X) — Q2 ()]

=~ Bx+2[f(X) =g (X :{Sf? b (4.3
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1+ 0
1-5+2)1+(a-1)+(b-1)+0

1- 5+ 2
(@a+4)+(0O-3)+0
0+ 0+0

(@+4)+(0O-3)+0
Il |
0 0
6.(1)ZIE f (OBREL X° — 2x = 3 Fo 2 + 3% — 4 Z 8RR IR X+ 9 Ko x+2, AIf (OBREL X +x— 12 7 84
(2)Z1E S OBREAX — 1)? Fo(x — 2)* 8RR IRy 3x B 3x + 2, HIlf (OBRBAKX — 1)°(x — 2) 28tk .
(1)2x + 6;(2)2x% = X + 2
(1) EHREEEA f () = (¢ — 2¢ = 3)a(X) + X + 9 = (X + 1)(x = 3)ca(X) + X + 9
f(x):(x2+3x—4)q2(x)+x+2:(x—1)(x+4)q2(x)+x+2
f@B)=3+9=12, f(-4)=-4+2=-2
Hf(X) =0 +x—12)q(x) +ax+b
f(8)=3a+b=12, f(-4)=-4a+b=-2 . .a=2, b=6 HERT s 2x+ 6 .
QR
f(x)=(x—1)2Q:(x) +3x = f (1) =3
f(X)=(X—2)°Qx(x) +3x+2=f(2)=8
L) =X-1)>*x-2) Q) +a(x—1)?+3x =f(Q)=a+6=8=a=2
TR BT B 2(x — 1) + 3Xx =2 = x + 2 .

782 (OBRPAX - 1)(x - 2), x—3 28z Ak 6x—9, 15, HIf ()BREA(X — 1)(x — 2)(x — 3) Z &
3% —3x-3
HF(X) = (X — 1)(X — 2)(x — 3)q(X) + a(x — 1)(x — 2) + 6x — 9
NI x -3 288 15=1(3)=15=>2a+9=15, Ha=3,
s 3(x —1)(x—2) + 6x—9=3x"-3x -3 .
8.EAIf () BIIRZIE, Llx+1)° et 3, Dix+2kr2epst 8, Dlx—1kerth 11,
Alfe)=__ .
2 +5C + 3¢ —x+2
S f(X) = (ax +b)(x +1)° +3
f(-2)=8=(-2a+b)(-1)°+3=8=2a-b=5
f(l)=11= (@a+b)x8+3=11=a+b=1 f#f2a=2, b=-1
HIF() = (@2x—1D)X+1)°+3=2x"+5+3¢ - x+2 .
1035 f()=a+bx+c,g(x) =3 +bx+8,#f(1)=g(1),f(2) =9(2),f(3)=g(3), Hla-c =
-5
[t |.deg(f (X)) <2, deg(g() =21 f(1)=9(1), f(2=9(), F(3)=9(3)
nlffiFa=3, c=8, fifa-c=-5.

£ 28



1l.a, b EEedy, F%IET 2xX° - 5% + ax — 6 B IET x° — 4x + b Big, A (ab) =

| s ] (-16.-2)

2+3
1-4+b)2-5+ a— 6
2-8+ 2b
3+ (a-2b) - 6
3- 12 + 3b

(a—2b+12)+ (—6-3b)
£a-2b+12=0, -6-3b=0, f$b=-2, a=-16.

12355 IEF £ (X) =3x2 + 4x+5 81 g(x) = a(x +3)(X+5) + b(X + 5) (X + 7) + c(x + 7) (x + 3) F[F—ZLIE,
Hrha, bAEH, Ala 2B

] 31
file % 5
f(X)=3x* +4x+5 =a(X+3)(X+5) + b(x +5)(x + 7) + c(x + 7)(x + 3)
f(~7) =124 = a(-4)(-2) a= % - % .

13,352 18 =, f(X) =8x% —36x* +82x —65=a(2x—3)° +b(2x-3)* +c(2x-3)+d , Hrfta, b, ¢, deR,
(D)sdok#4H (a,b,c,d) = .
QLA AGE, oK (1.499) A {DUE 2/ NEEE 12 55 = fir, SKILE Ry
% ‘(1)(1,0,14,4);(2)3.972

| ) t
Ul 2

8 -36 +82
12 36 69
2] 8 24 46| 4=
4 -12 23
6 -9
2| 4 6| 14 =cC
2 -3
3
2] 2] o =b
1 =a

(a,b,c,d)=(1014,4) .
(2) f(1.499) =14(~0.002) + 4 =—0.028 + 4=3.972 .

1475 f(x) =8x* — 12x° + 8x - 5, HIf(1.501) =
(Vs A ARV NS = {r i)
7.026
x=1.501 = x — 1.5 =0.001
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8 .12 +8 -5

N w

+12 +0 412
8 +0 +8|+7
+12 +18
8 +12 | +26
+12
8 +24

f (x) =8(x — 1.5)° + 24(x — 1.5)* + 26(x — 1.5) + 7= f (1.501) = 8(0.001)° + 24(0.001) +
26(0.001) + 7 ~ 7.026 .

1588 f () B Z%rE, Hf(2008)=4, f(2009)=1, f(2010)=6, Hif(2011)=
s |19
fiEfr | 8% f(X) = A(x — 2008)(x — 2009) + B(x — 2009)(x — 2010) + C(x — 2008)(x — 2010)
f(2008)=Bx(-1)x(-2)=4=B=2
f(2009)=Cx1x(-1)=1=C=-1
f(2010)=Ax2x1=6=A=3
.f (%) = 3(x — 2008)(x — 2009) + 2(x — 2009)(x — 2010) — (x — 2008)(x — 2010)
f(2011) =3 x3x2+2x2x1-1x3x1=18+4-3=19.
1688 £ () BT, ZHIER (x=1)- f Q0BRLLX + X+ 2 (985505 3x—7 , RZIE f (9 BRL
X+ X+ 2 YER TR
fE | x+5
f(X) = (X% + X+ 2)Q(X) + (ax+b)
(x=1) f () = (x=D)(X* + X+ 2)Q(X) + (ax + b)(x —1)
=(X=D(X* + x+2)Q(X) + a(x* + X+ 2) + (—2a + b)x + (b — 2a)

—2a+b=3 ' \
{—2a—b=—7:>a=1’ b=5  ..BRFIx+5 .
17355387 f (X) RbLlax—b ipgst s q(x) , 80 hr, HEia, b, reR, HIF5[5EE

FyTERE
(A)ZIE | (x) BrDLax —ab (yER=0ks ar

(B)& 3t T (X) bl a®x — ab yRa st 2 i q(%)
(C)%TE - f (ax) L ax —g (gt 2 b2
(D) S TE2 b7 - f (ax) [ L ax _g frE S s b - (ax)

EFFH - W Rblax-bIBRR D PSR ) Hbx-b st ar
[ B#% | BCE
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(WX, ()= (ax-B)a(x)+ T =(a'x~ab) =g +7 Bty

B)O, HIA), Piﬁfﬁéqu)

(O, f(x)=(ax-b)q(x)+r
b? f (ax) = b*(a’x —b)g(ax) + b*r B bR

(D)X, b*f(ax)=(ax —g) -ab’q(ax) + b’r .. Fg=t ab®q(ax)
BY0, X () =x(@-b)- g0+ 1-X=x(@x-b)- g +(ax—b)+ 21 st
P, FE)=(a-2=b)-q(X) +r=(x=b)-q(X)+r SEstET
a a a a
##E(B)(C)(E) .
18k B, H 7C+8C+8x+5# x—k[, B35 28, HI 7x° +8x% + 8x + 5 #% 88x — 88k 4,
FEleR A

s | 28
Hf(X) =7 +8x>+8x+5,

B
= || 0%

f(x) = (x — k)Qu(X) + 28 =88(x — k) -8—18Q1(x) +28=(88x—-88k) -Q,(x)+28, fx= /28 .

1955 F () =x2 + ax'®™ + Ix -8 ¥y x + 1 #f%, Hla=
s | -14
[ [ f(-D=0= (-1 +ax (-1 +7x(-1)-8=0=>1-a-7-8=0=a=-14.
205 F () =x"+x* =106 — 10x* + x + 5, BUR FHIS@EE: (f(Q+)=__  .QfQ+ V2)=__.
% | ()18 - 43i;(2) - 36 — 2812
1+1-10-10 + 1 + 5|1
+1+2 -8 -18 —17‘
1+2-8 -18 —17‘—12

I

+1+3 -5 -23

1+3-5-23| —40

+1+4-1

1+4-1|-24

+1+5

1+5|+4

4

1+6

BfX) =(-1)°+6(x—1)*"+4(x—1)°-24(x —1)* - 40(x —1) - 12 .

(Df (1 +1i) =i° + 6i* + 4i° — 24i* — 40i — 12 = 18 — 43i .
@QF A+ ~2)=(2)+6(N2) +4(J2) -24(J2 ) - 40(\2)-12=-36-28+/2 .
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21. 8412385 f (X) =2(x - 2)* —2(x - 2)° + k(x—2)* -16(x—2) +18 =a,x* +a,x’ +a,x* +a,x+a, ,
D#&Ea, +a,+a,+a,+3,=70, Ak 2B R .
(23K (x=2)* B f(x) Z B0
(1)32;(2)-16x+50
Q) f()=a,+a,+a,+a +a,=70 = 2+2+k+16+18="70 ok
(2)828 s ~16(x — 2) +18 = —16X +50 .

32 .

235518 () BRI -1V Ry x(x 1), 8RzUk 2x% —x+3, 3K

(1) ) BRUL(x -0 ryp=tReR=tr il mR=__ . Q8=

22| ()3 +x+2;(2)3x+1
fF(X)=(x°*=1) - x(x=1) +(2x* —=x+3) = (X =1 - (X* + X +1)- X+ 2(x—-1)* + (3x +1)
=(X=D*(C + x> +Xx+2)+(3x+1)
SR X X+2, BRF3x+1 .

23. 2401 f(x) F—2TECH deg f () =3, 75 f(X) BRDAX® +1 282208 —6x+4 H f(X) BRDAX® —4 Z8k5K

Rydx+9, HIf()=___ . CGRBEIREREDEY])

2X°+X*—4X+5

4 £ (x) = (X2 +1)(ax +b) + (—6x + 4) = ax® + bx? + (a—6)x + (b + 4)

ab
1+0-4)a b a-6 b+4
a 0 —4a
b 5a-6 b+4
b 0 -4b
5a-6 5b+4
',.{Sa—6=4:>{a=2 S =2x° + X2 —4x+5 .
5b+4=9 b=1

A4 =RKZHEAT(K), F(1)=5, 1(2)=6, F(3) =11, f(4) =8, AIf(EREAX - 1)(x - 2)(x — 3) Z&x=LFy

s | 2x° —5x +8
fifr | o degf X)=3 H f(1)=5, f(2)=6, f(3)=11, f(4)=8,
Sagf()=ax—1)(x-2)(x—3) +b(x—-2)(x—3) +c(x—3) + 11,
f(2)=—c+11=6, .".c=5,
f(1l)=2b-2c+11=5, .".b=2,
f(d)=6a+2b+c+11=8, .".a=-2,
SR =2(x—2)(x—3) +5(x—3) + 11 =2x* —5x + 8 .

2535 F(X)=2x3 —5x% +x+3, % f (x=2) = g(x+1), Bl (x+1) f (X) —2xg(X) B2l x - 2 Z 85505 _.

23
(x+D) F(x) — 2xg (x) BREA (x - 2) Z 8zl B
(2+1)f(2)-2(2)g(2) =3f(2)—4g(2) =3f(2)—-4- f(-1) =3(1) - 4(-5)=3+20=23 .
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26 (X)) =X +al+bx+4, fORELLx+1, x+2 HEE=04571k 0, 6, HIE%(ab) =

[ & ] 61
f(-)=-1 -b+4=0 —-b=-3
g | | D =-1ra-b+ ]2 a8, bo11 .
f(-2)=-8+4a-2b+4=6  |2a—b=5

27.£0) B=RZIEL,  f ) BRPAX® +x+ 2 8720 F x+ 2, BREAX® +x -2 8320k —x+ 2,

X+ X HER R Ay
s |2
4 f(x) = (@ +b) (X2 + X+ 2) + (X +2)
f(1)=(a+h)(4)+3=1
-1

f(-2)=(-2a+b)(4)=4 > a=—", b=0

-1 2 ___1 3_1 2 _(¥3 2 __1
f(x)_?x(x +X+2)+(X+2) = 5 X 2x +2=(X"+X )(2)+2
CERERy 2.

28.(1 + X) O BREA X + 1 5ERE B
32x
f)=(L+x)"=+1)g(Xx)+ax+b (a, b HEFH)

fi)=(1+)°=@{+21q(i)+ai+b=>1A+i)’=ai+b
XA+ =[1+i) = (2i)°=32i
C.32i=ai+b=a=32, b=0 et 32x .

203 ET f (X) =X +X° =X+ 11x -3, HIf(—1+3)2{H =
N

i | x=-1+V3=x+1=43

f)=(X+1)"-3x+1)°+2x+1)*+12(x + 1) — 15
f(-1+v3)=(1/3)"-3(~3)*+2(~3)*+1243-15=33 .
1 41 -1 +11 -3]-1
-1 +0 +1 -12
1 +0 -1 +12 |-15
-1 +1 +0
1 -1 +0 [+12
-1 +2
1-2 [+2
-1

+1|-3
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305 (0L~ 3 +2, X - 4x+3 S3HIR Y, [AFEAT 3. 3, HILLX — 5+ 6 [ f ()
firs | 6x—9
T | B0 = (-3 +2mu() +3 (X*-3x+2=(x-1)(x-2)) @
= (% — 4X + 3)qa(X) + 3x (X2 —4x+3=(X-1)(x-3)) @
()= -5x+6)g(X) +ax+b (X*-5x+6=(x-2)(x-3)) O
HOOET(2)=3=2a+b--®, HEOEF(3)=9=3a+bh-O
H@®®E a=6, b=—9, . .ft/6x-9.

31FOOLLX —BX+ 6 [ x+ 3, DA —6x+ 8 g 2x + 1, HIIDL X2 — Tx + 12 [ 650 By )
% | 3x—3
it | 8% F () = (X* = 5x + B)qu(X) + X + 3= (X — 2)(x — 3)x(X) + X + 3
= (% = 6X + 8)0a(X) + 2x + 1 = (x — 2)(X — 4)qa(X) + 2x + 1
= -Tx+12)g(X) +ax+b=(x-3)(x-4)q (X) +ax+b

f(3)=6=3a+b
{ ) A0 L a—3. b=-3, g 3x-3.

f(4)=9=4a+b

32. 5 TETF (OBREAX — 1 2 820 2, BREDCE + X + 12 820k 2x + 6, Al F (OBRELC - 1 2 870k :

) =(x—1)0C+Xx+1)q () +a(C+X+1)+2x+6
f(l)=3a+8=2=a=-2 > .. K& —20C+X+1)+2Xx+6=—2+4 .

330 —7x 450 44X B+ L DA X -1 8
s | -5 +5x° -1
Sxt—1=0, EIX* =1 (RAF)=xP -7 +5x° + axP? -5 + 1 75
f(x) = (x)* = 7(¢)* + 5(x*)" x X* + 4(x*)° - 5x° + 1
=1-7+5¢+4-5+1=-5x+5x-1>

SRR -5 +5¢% 1.

34.E51 deg f (x) 24, #5f(OLAX* -4 81X + x + 1 B2 850 IR Z— 5x + 1, 3x—1, HI
FOOBRLACC - 4) (¢ + x+ 1) Z g = . (CBZAEAR RS
R | —23+3x+1
R | )= - () +(-5x+1)=>f(@2)=-9, f(-2)=11

SEX) = (X -4 +x+1) gp (X) +(ax+b)(x* + x+1) +3x -1

AIf(2)=QRa+b)(4+2+1)+5=-9=1d4a+7b=-14

2a+b=-2 — 2
f(—2)=(—2a+b)(4—2+1)—7=11:>—6a+3b=18:{ a+ {a

-
—2a+b=6 b=2
CEBRB(-2X+2)C+X+1) +3x—1=—23+3x+1.
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3[53F()=xt+a+ 20 +bx -2 X +x - 2 (YR, KEE @, b) =

[ %% | @.-5)

X+ Xx—2=(X+2)(x—1) HRXEHHF(-2)=16-8a+8-2b-2=0
4a+b=11.--@

fl)=1+a+2+b-2=0= fO@f3(a, b)=4,-5).
a+b=-1.--@

36,55 f (X) By = IE=, FLf (1996) = — 3, (1997) = 4, (1998) = 5, (1999) = 6, 3k f (2000) =
1

£ (2000) - ( - 3) (2000 ~1897)(2000 ~1998)(2000 ~1999)
i (1996 —1997)(1996 —1998)(1996 —1999)

4, (2000-1996)(2000 ~1998)(2000 ~1999)
(1997 —1996)(1997 —1998)(1997 —1999)

5., (2000—1996)(2000 ~1997)(2000 ~1999)
(1998 —1996)(1998 —1997)(1998 —1999)

1 (2000-1996)(2000 1997)(2000 ~1998)
(1999 —1996)(1999 —1997)(1999 —1998)

=3+16-30+24=13.

37 EEGEETET X — X + kX — 2kx - 2 HE G — RN, Hl k=
FO)=x' =+ k¢ —2kx — 2 19— AT HEEEE X+ 1, x£2
(1) =0=1—1+k—2k—2=0=k=-2,
#f(-1)=0=1+1+k+2k-2=0=k=0,
(2 =0=16 -8+ 4k—4k—2=6%0 (F&)

#56(—2) =016+ 8 + 4k + 4k — 2 = 0=k = - % (F&)

Sk=03 -2.
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